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Four choices are given for each of the questions/incomplete statements. Choose the correct answer.     20×1=20 

1. Practice well, you will do better next time. (Choose language function) A. request    B. order  C. obey  D. advice 

2. The word which collocates with ‘sweet’ is       A. growth        B. memory        C. design        D. colour 

3. The word which has one syllable is                   A. friend        B. return        C. couple        D. knowledge 

4. Sheela helped the old man. The passive form of the above sentence is 

A. The old man was being helped by Sheela.        B. The old man was helped by Sheela. 

C. The old man is helped by Sheela.                        D. The old man had been helped by Sheela. 

5. Sitara will ______ a stage show tomorrow. (The appropriate tense form of the verb to be used is) 

A. perform        B. performs        C. performed        D. performing 

6. The appropriate prefix to form the opposite of ‘polite’ is        A. non        B. un        C. dis        D. im 

7. She sings melodiously. (The part of speech of the underlined word)   A. adverb    B. verb   C. noun   D. adjective 

8. The chemist could not _____ what the doctor had written. (The correct phrasal verb to be used here is) 

A. make up        B. make in        C. make over        D. make out 

9. Science is more interesting than any other subject. (The superlative form of the above sentence is) 

A. No other subject is as interesting as Science.                   B. Science is the most interesting subject. 

C. All other subjects are not as interesting as Science.       D. Science is more interesting subject. 

10. If I had been the captain of the team, I _______ chosen to bat first. (Complete the ‘if’ clause) 

A. couldn’t have        B. would have        C. should have        D. shouldn’t have 

11. Malathi is plucking mangoes, ______? (The question tag to be used here is) 

A. is she        B. did she        C. isn’t she        D. does she 

12. John is _____ European. (The articles to be used here is)      A. a      B. an        C. the        D. No article 

13. The broken chair can be fixed ____ glue. (The preposition to be used here is)   A. in     B. to    C. for     D. with 

14. I am tired, _____ I cannot play. (The conjunction to be used here is)     A. but        B. and        C. or        D. so 

15. When he ______ about the great musician’s concert, he immediately booked a ticket online. 

The correct form of the word to be used is       A. heard        B. hear        C. hearing        D. hears 

16. This step is not a part of informal letter.    A. date        B. subscription        C. subject        D. salutation 

  17. The appropriate prefix to form the opposite of ‘civilized’ is    A. ir        B. dis       C. un        D. ill 

18. The match was …………. due to heavy rain. (The correct phrasal verb to be used here is) 

A. put on       B. put up with      C. put off       D. put out 

19. The chief guest accepted our ……….. (The correct form of the word to be used is) 

A. invite      B. inviting       C. invitation     D. invites 

20. In a formal letter, ‘Respected Sir’ is known as ____   A. salutation    B. subscription    C. superscription D. subject 
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